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(lat1,lonl), (lat2,lon2)

cos 0 = sin(latl)sin(lat2) + cos(latl)cos(lat2)cos(lon2 — lon1)
6 = acos(cos(0))

distance = r@
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#include <math.h>
3.14159265358979323846
#define 6371

deg2rad (

distance (
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e degree —> radian H&tst= g

o T XHe ?lE, dEE 2lXt=Z Erol HE|E Etetst= e

#define PI 3.14159265358979323846
#define RADIUS 6371

cos 0 = sin(lat1)sin(lat2) + cos(lat1)cos(lat2)cos(lon2 - lon1)
8 = acos(cos(0))

double deg2rad(double deg) {

return deg * PI / 180; )
distance =0

double distance (double latl, double lonl, double lat2, double lon2) {
double cos theta = sin(latl) * sin(lat2) + cos(latl) * cos(lat2) * cos(lon2 - lonl);
double theta = acos(cos_theta);

return RADIUS * theta;
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latl, lonl, lat2, lon2;
scanf ("%1f %1f $1f %$1f", &latl, &lonl, &lat2, &lon2);

deg2rad(latl) ;
deg2rad(lonl) ;
deg2rad(lat?2) ;
deg2rad (lon2) ;

printf ("$.11f\n", distance(latl, lonl, lat2, lon2));




#include <stdio.h>

#include <math.h>

main ( ) |
latl, lonl, lat2, lon2, dist, c¢s, theta;
scanf ("%f %f %f %f", &latl, &lonl, &lat2, &lon2);

= sin(3.141592654*1atl1/180)*sin(3.141592654*1at2/180) +
cos (3.141592654*1at1/180) *cos (3.141592654*1at2/180) *cos (3.141592654* (lon2-1onl) /180) ;

theta = acos(cs);
dist = 6371*theta;
printf ("%.1£f", dist);

return O;
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e next_primea mH S&SI0 nECt Z & mIlE &

&n, &m) ;

for ( i =0; 1 < m; i++) {

n = next prime(n);

printf ("%d ", n);

printf ("\n") ;

return O;

oot
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o AT QIX| elst= et (int is_prime(int n))
o 25FH n X[ I Z|HM nI}t L0 BEO{X[=
Aol A=K =2kl
o Lol "olxle ol Yom HA, oflw &
o double sagrt(double n)(@math.h)
» AEZZE PS5t &5Wn)
o [l AFE Fh= &= (int next_prime(int n))
o ng 37tAMZ|IHAM nECt 310 JHE TR &AFE
returngh

is prime (

for (

if (n

i

= 28

g i ==

return O;

next prime (

while

n++;

(1)

{

n)

i

)

{

) sgrt ((

<= root nj;

n)

if (is_prime (n))

return n;

)yn) ;

it++)

{




n, m;

scanf ("%d %d",

printf("sd ",

m-=-=y;

if (m == 0)

printf("\n");




isPrime ( n) {
i=2;1i<n-1;1i++) {
if (n%1i==0)
return 0;
}

return 1;

a, b;
scanf ("%d %d", &a,
num=0;

a=a+l;

while (num!=Db) {

&b) ;

if (isPrime (a)==1) {

printf ("%d ",

num++;

return O;

a);
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o A :90% olA, B:800|4AH C

ny

printf ("What is your scor

scanf ("%d", &n);

printf ("B\n") ;

break;

1 700|4, D : 60& 0l &k, LIHX|

printf ("D\n") ;

break;

default
printf ("Fail\n") ;
}

return 0;

. Falil

make -s

./main
What is your score?: 100
A

./main

What is your scoxre?: 85
B

./main
What is your score?: 50

*break<™ Ml HGtD



printf ("What is your grade?:

scanf ("%c", &grade);

switch (grade) {
case 'A':

printf ("90+\n") ;

break;

“ase 'B'
printf ("80+\n") ;

break;

Mg

printf ("70+\n") ;
break;
1D

printf ("60+\n") ;
break;
case 'F'

printf ("60-\n") ;
break;

default

printf ("Invalid grade\n") ;

}

return O;

./main
What is your grade?: A
90+

./main
What is your grade?: C
70+

./main
What is your grade?: F
60-

./main
What is your grade?: G
Invalid grade
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Ql2d: T AFKH (int) 4 AtXH(char) [ ¢4 AEXE2(int) 5% 10 = 50
i ./main
=2 A A2 (int) 10 ; 2
0 /2=
O‘—:|A|—|-x|- +1 _:l *1 X’ /’ %: <:| > '/main
Lo - _ 10 % 3
* X AMK= FoH7| & 2|o|et 0 %3 =1
o| = of— A olzd =l = o ./main
XA BtX| 2t ALXIE e E A2 “Invaild operator” &5 10 < 1
_ _ . 10 <1=0
At S 40| intg e HYE HO{M = 42 D8 sHX| &3 i
SwitchE2& AlE L

95> 0=
./main

10 @ 1

Invalid operator
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int main (void)
int operandl;
int operand2;
char op;
int result;

scanf ("%d %c

switch (op)
{
case '+'
result
break;
case '-'
result
break;
case '*!'
case 'x'
case 'X'
result

break;

- &

{

%d", &operandl, &op,

operandl + operand2;

operandl - operand2;

operandl * operand2;

&operand?) ;

operand?2,

case '/'
result
break;
case '%'
result
break;
case '>'
result
break;
case '<!
result

break;

default

operandl

operandl

operandl

operandl

operand?2;

operand?;

operand?;

operand?;

printf ("Invalid operator\n");

return O;

printf ("%d

return O;

$d = %d\n",

result) ;

operandl,

Oop,

./main
10 + 20

10 + 20 = 30

./main
10 % 5
10 * 5 =

./main
5 % 10
5% 10 =

./main
10 / 2
10 / 2 =

./main
10 % 3
10 % 3 =

./main
10 < 1
10 < 1 =

./main
10 > 1
10 > 1 =

./main
10 @ 1

Invalid operator
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printf ("Recursive call star
if (n <= 0) {
printf ("Recursive call done %d\n", n);

return;

func (n-1) ;

printf ("Recursive call done %d\n", n);

) {
ny
scanf ("%d", &n);
func (n) ;

return 0;

-/main

3

Recursive
Recursive
Recursive
Recursive
Recursive
Recursive
Recursive
Recursive
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factorial ( n)

f (n <= 1)

return 1;

return n * factorial (n-1);

main ( I

* 2
fl, IEQ2

fact(3)
scanf ("%d", &n); —<

'\‘ *
f = factorial (n);

printf ("%d! = %d\n", n, f); E fact(2)

return 0; \

=
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m 3. r0] 00| of{2}tH, a0l bE E11

a=39,b=24
39 % 24 =15
24 % 15=9
15%9=06
9%6=3

6 96.§,= 0

GCD(39, 24) = 3

ay

scanf ("%

printf ("gcd

return 0;

%d, $d)

B{ CHAl A[Z}

%d\n", a,

b, gcd(a,b));

O

11



gcd(24, 15)
~
gcd(15, 9)
i (r” ' gcd(9, 6)
return 2 \\\

gcd(6, 3)

else

return
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Hi & (array)

(@]

(@]
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Atzd ol E[3A7I];

Zt Hiol&ol =&

= O
|_

AZ|oll 7= &

int  agel[5]; //57H2] int¥ C|O|E{ & 7}X|&= d
HOlE & 7IX|= il &

double height[3]; // 37H2| double®

double weight[a]; // Z4 ol &y

age[0] age[1] age[2] age[3] age[4]
(int) (int) (int) (int) (int)
height[0] height[1] height[2]
(double) (double) (double)
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int age[3];

age[0] = 20; // age Hi ¥ AHHM elementd| 20 ¢t &

inti=1;
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ageli] =21; // indexoll A= SE)

ageli+1] = 22;
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%d %d\n", array[0], arrayl[l], array[2]);

scanf ("%d", &n);
for ( i = 0; i < 3; i++)
{

array[i] = nt+;

printf ("%d ", arrayl[i]):;

}

return 0;

make -s
./main
10 11 12
100
100 101 102

./main
10 11 12
200
200 201 202
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o intarray[3] ={10, 11, 12};

v

age[0] age[1] agel2]

10 11 12

main (
arrayl[3] = {10, 11, 12};
array2[3] = {10, };
array3([3];

i < 3; i++)

$d array2: %d array3: %d\n",

i, arrayl[i], array2[i], array3[i]);

printf ("\n") ;

return O;

./main
[0] array: 10 array2: 10 array3: -1194784800
[1] array: 11 array2: 0 array3: 1793901416
[2] array: 12 array2: 0 array3: 1793901416
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random
srand(time(NULL));

[== R

rand() % 6;

ol

./main
10

[2]
[3]

[4]
[5]

./main

100
[e]
[1]
[2]
(3]
[4]
[5]

14
21

16
19
11
19

./main
1000000
[0] 167355
[1] 166262
[2] 166423
[3] 167320
[4] 166290
[5] 166350
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srand (time (

));

scanf ("%d", &n);

for ( i=20

count [rand ()

for ( ' 0;
printf (" [%d]

return O;

i < n;

i<

sd\n",

i,

o aldraR)

count[i]) ;

./main

10

(el
[1]
[2]
[3]
[4]
[5]

./main
100
(el
[1]
[2]
(3]
[4]
[5]

./main
1000000
[0] 167355
[1] 166262
[2] 166423
[3] 167320
[4] 166290
[5] 166350

32
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./main
12345
Sum: 15
Mean: 3.00
Max: 5
Min: 1
12345

./main
12-1 45
Sum: 15
Mean: 3.00
Max: 5
Min: 1
12345

./main
12 -11014
Invalid input
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#include <stdio.h>

#define ARRAY SIZE 5
#define MAX 100
#define MIN O

int main (void) {

int arr[ARRAY SIZE];
int sum = 0;

double mean;

int max = MIN;

int min = MAX;

int invalid num = 0;

int invalid index;

for (int i = 0; i < ARRAY SIZE;

scanf ("%d", &arr[i]);

1++)

(int i = 0; i < ARRAY SIZE; i++)

if (arr[i] >= MIN && arr[i] <= MAX)
{

sum += arr[i];

if (min > arr[i])

min = arr[i];

if (max < arr[i])
max = arr[i];
}
else {
invalid num++;

invalid index = i;

T

invalid_num = 1
invalid_index = 2

sum=1+2+4+5
min = 1
max =5




(invalid num > 1) { 1 2 -1 4 5

printf ("Invalid input\n");

return 0;

invalid_index = 2

arr[invalid_index] =
(1+2+4+5)/4

se 1f (invalid num > 0) {

arr[invalid index] = sum /(ARRAY SIZE - 1);

sum += arr[invalid index]; 1 2 3 4 5

if (min > arr[invalid index])

min = arr[invalid index]; sum = 12 (1 + 2 + 4 + 5) + 3(_CII_JCCD-IE| g}l\-)
min =1
if (max < arr[invalid index]) max =5
max = arr([invalid index]; mean =3 (Sum / 5)

) sum/ARRAY SIZE;

36



printf ("Sum:
printf ("Mean:
printf ("Ma

printf ("Min:

n", sum);
%.21f\n", mean);

\n", max):;

$d\n", min) ;

1 < ARRAY SIZE;

printf ("%d ", arr([i]):;

printf ("\n") ;

return O;

i++)

./main
12 -145
Sum: 15
Mean: 3.00
Max: 5
Min: 1

12345
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678910109876

10 10 10 10 10 10 10 10 10 1

./main
10 20 30 40 50 1 2 34 5
50 1
40 1
30 1
20 1
10 1
51
41
31
21
11
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<stdio.h>
SIZE 10

#include

#define ARRAY

d) |

A
25 4-Tip
5 1 10 9 9 10 int main(voi
int arr[ARRAY SIZE];
ﬁ LHEXt= &< -
L o+ S& 5 ot
2 2 1 1
[ [ 1]
10 9 9 5 1
return 0;

10

i++)

40
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int main(voic |=0 for(lntJ=|+1’J<5’J++)

5 1 10 9

; 1 < ARRAY SIZE; i++)

for (int i = 0; i < ARRAY SIZE-1; i=2 l

max_index = i; 10 9 5 1

=i+ 1; j < ARRAY SIZE; j ( i=3 l

f (arr[max index] <

max_index ) ; 1 0 9 7 1

if (1 != max_index) {

temp = arr([max index]; 1 O 9 7 5

arr[max i x ] = arr([i];

arr[i] = temp;




arr2 [num] = arr[0];

cnt [num] ++;

for (int i = 1; i < ARRAY SIZE; i++) {

if (arr[i] == arr[i-11) {
cnt [num]++;

1

else {
num++;
arr2 [num] = arr([i];

cnt [num] ++;

}

for (int i = 0; i1 < ARRAY SIZE; i++) {

if (cnt[i] > 0)

printf ("$d %d\n", arr2[i], cnt[i]);

}

return 0;

arr

arr2
cnt

arr

arr2
cnt

arr

arr2
cnt

10 10 9 1
| num =0
10 0
1 0
i=1

|
10 10 9 1
l num =0
10

i=2 |

10 10 9 1

| num =1
10 ]




arr2 [num] =

cnt [num] ++;

arr[0];

for (int 1 = 1;

if

(arr[i]

== arr[i-17) {

}

}

for

if

}

cnt [num] ++;

1se {

num++;

arr2 [num] = arr([i];

cnt [num] ++;

(int i = 0;
(cnt[i] > 0)

printf ("%d %d\n",

return 0;

i < ARRAY SIZE;

arr2 [i]

i < ARRAY SIZE; i++)

i++) {

{

, cnt[i]);

arr

arr2
cnt

arr

arr2
cnt

arr

arr2
cnt

10 10 9 9 5 1
| num =1
10 9
2
i=4
|
10 10 9 9 5 1
| hum = 2
10 5 0 0
1 0 0
i=5
|
10 10 9 9 5 1
| num =3
10 5 1
1 1 0
44
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=> (@%/3) + (a%/2) => f(a/10)*a/10 + f(a/10*2)*a/10.... +f(a) *a/10 .

=> f(a/100)*a/100 + f(a/100*2)*a/100 ... +f(a)*a/100
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./main
10
[ 10] 440.00
[ 100] 388.85

[ 1000] 383.88
[ 10000] 383.39
[100000] 383.34
383.33

./main
100
[ 10] 390500.00
[ 100] 343400.00
[ 1000] 338838.50
[ 10000] 338383.83
[100000] 338338.38

338333.33
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